Exercice 6

1)A=3x-8+4x + 5=3x—4x—8+5=-x-3

= 3x?+ 5x- 6- 2x%-4x-3=3x>-2x>+5x—4x—-6—-3=x>+x-9
=5x2-7-9x2+x-3x + 9=5x2—-9x’+x—3x—7+9=—4x* —-2x+2

= 4x? — (5x + x% — 6x) + 7x = 4x* — 5x — x% + 6x + 7x = 4x? — x* — 5x + 6x + 7x = 3x% + 8x

=3x-(4+20+ x>+ 7D =3x—-4-2x+x*+7=x*+3x—-2x—4+7=x*+x+3
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= 3x%- (4x- 1)- (x*+5x) =3x? —4x+1-x* - 5x=3x — x> —4x—5x+1=2x>-9x +1
G=2X%X3xX4=2x3x4Xx=24x

H=3X5x X 2x=3X5X2xxXx=30x"

| = (-7x)X 3x =—-7X3XxXx=-21x"

J = 7x?x 2x%2 =7 x 2 X x? X x? = 14x°*? = 14x*

2) A=73Bx+5)=7x3x+7x5=21x+35
B =4x(2x +6) = 4x X 2x + 4x X 6 = 8x?% + 24x
C =-9a(3a+b) = —9ax3a—9axb=-27a* —9ab
D =—5(=2x—4) = =5 x (—2x) — 5 X (—4) = 10x + 20
E=(x+52x+4) =xQ2x+4)+52x+4) =xX2x+xX4+5%x2x+5x%x4=2x%+4x + 10x + 20
E =2x%+14x+20
F=02x+3)5-4x) = 2x(5 —4x) + 3(5 — 4x) = 10x — 8x% + 15— 12x = —8x% — 2x + 15
G=(a+7(a+7)=ala+7)+7(a+7)=a*+7a+7a+49 = a* + 14a + 49
H=(t—10)? = (t —10)(t — 10) = t(t — 10) — 10(t — 10) = t> — 10t — 10t + 100 = t*> — 20t + 100
I=({t+5)(t—-5)=t(t—5) +5(t—-5)=t%>—-5t+5t—25=1t>—-25
J=0Gx+2)?=G6x+2)5x+2) =5x(5x +2) + 2(5x + 2) = 25x% + 10x + 10x + 4 = 25x% + 20x + 4
K=0CBx—4)?=03Bx—4)(3x—4) =3x(3x—4) —4(3x —4) = 9x%2 — 12x — 12x + 16 = 9x% — 24x + 16

L=0Bx+2)3x—2)=3xBx—2)+2Bx—-2)=9x?>—6x+6x—4 =9x% — 4



